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And according to Ravinoh why is it different from a spark

Overview

X1°27 ruled that the chaff from the flax which was carried by a wind to the neighbor’s
property is not considered ;1°2>7 >33, The X3 asked why (according to X1°27) is this
case different from a w°vd7 nnnn RX17 73 and it damaged, where he is liable, even
though the damage was caused only with the aid of the wind. M50 discusses why
this question is on X1°271 more than on K. !

n»doIN asks:
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And if you will say; but why does the X3 ask only according to N1°39, the
question should also be posed to 9%°2R regarding the obligation to pay; why is
the case of the flax (where he is only required to distance but not to pay) different
from y3 (where he is required to pay)?!

MB0IN answers:
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And one can say; that it is for this reason that the X7 mentions only X1%29, since

923K could have deflected the question by saying -
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That indeed he is liable for payment according to n°nX, for he compares
completely the case of the flax to the case of ‘winnowing and the wind assists
him’.

Summary

!'In our texts it is 72> (not 12 aR). Perhaps they are the same person?
2 See ‘Thinking it over’ # 1.
3 See previous w"'» 71"7 '0I0 where MoIN cites *WX 27 who maintains that regarding the case ¥4 (like the case here by
flax) that there is no Pm>wn since PP X173 is MWD but there is a ApMA7 210 since X173 is MOR. In this question 'DIN
assumes that 721X follows this view of *wX 27 when he said, "ny»0n 171 717 117, meaning that there is a 7pnT 2177,
but no PmPwn 2vm; the same question can be asked on R, why is this different yan?!
4The n1"27 M7 amends this to read 2°°17 (instead of 2°).
5 In this answer N190N maintains that it is not necessary to assume that 72X agrees with WX 21 (see footnote # 3),
rather 77X maintains that we derive from naw that (regarding wind assisted damage) not only is he liable to distance,
but he must also pay for the damage. [Regarding the question in 011377 P19 (from M7 7N2°21 712°7), AR can use one
of the other answers there (not like *wX 27). 011972 w"y.] See “Thinking it over’ # 2.
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77K can maintain that in a case of 1ny>on M7 he is even liable for damages.

Thinking it over
1. Why did not m»ao1n ask that the question on X1°27 should apply to *w& 27 72 771 as

well (as to M nR)?

2. Is it necessary to assume that 792X maintains that he is liable for payment?
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